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Factor Sum Table

Standard :ax? + bx+c
Problem: 5 X &‘" B§:
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Rewrite with the middle terms as the 3 X Z:t_ | X + ‘.0)‘ _I_ L
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place the left overs in a binomial together.
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Factor Sum Table

Standard Foim: ax? + bx+c
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Rewrite with the middle terms as the < 4
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place the left overs in a binomial together.
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Write down the duplicate binomial and the X _(,3) Y~\, \,@)
place the left overs in a binomial together. ,
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Factor Sum Table

Problem: 4 X + ’

5 &)dard F/ﬁnﬁ + bx+c

Label b= | S = — A
Factors a*c ]
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Rewrite with the middle terms as the
factors
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Write down the duplicate binomial and the
place the left overs in a binomial together.
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Factor Sum Table

g tanilrd Form: ax? + bx+c
Problem: \/ LP V

Label b= ,Q c= _7
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Rewrite with the middle terms as the \/ - - 7 ~_]
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Write down the duplicate binomial and the \/+ \\ “ - I)
place the left overs in a binomial together.
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Factor Sum Table

Label

' ard Form[ ax%< bx+c
ProbleW + w
a= b=

Factors a*c
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Rewrite with the middle terms as the
factors

Split into two groups

Factor out the GCF

Write down the duplicate binomial and the
place the left overs in a binomial together.
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